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Tt 95 & O AT IAE F9T @ fedT @
. qE & IOt dfagy

1. (a) (i) Allowing firms to charge a price above the marginal
cost is important to promote innovations in the
economy. Explain.

HHl @ QAT AR 9 3t S 999
T, STfqaET § GER (innovation) HI FGMET 34
?q HEEF &1 AR | 3
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:Jer an economy Wwith a fixed saving rate and

no technological progress. Suppose there is a war
that does not directly affect the capital stock but
the casualties reduce the labour force. What is the

1mmedlatc impact on total output and on output p per

(ii) Const

lUi“‘ worker? Assuming that the saving rate is

unchanged and that the economy was in a steady
_~state before the war, what happens subsequently to
—output per worker in a post war economy? Does
the growth rate of output per worker increase or
decrease after the war? (}/

ﬁa'{aaaa?afamsﬁqahﬁﬁﬁwwﬁrmﬁ@
referaen W fER AR 79 A 5w
I Yol i @l e q I THIId T80 Heam W
AR & BaTed 8 (casualties) & HRIT I7 IfRT
FH B Sl & | {o IR T i e 9 W
T Y91 FT 87 98 AMG §C 5 sud o
~ IuRafda W@l & q9r ey ¥ wea sreferawm
e (steady state) § off, gasu & gey G
9% a0 4fE ST W OFT THE 9saT 8| Uiy
At ST B I N I P € Feell & A F
el 87 241%a+1
o

(b) Bring out the relationship between the warranted grgv;th
rate, the expected growth rate and the actual growth
rate in the Harrod model. Using this explain the
instability problem in capitalist economies.

oS & AISH H G (warranted) 3R5 R, TR
q@ﬁawﬁmq@mémmw
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(c) Consider an economy with the production function

Y = K°L"®. Assume that o = 1/3. |
(i) Is this production f/gnction characterised by

Constant Returns to Scale? .
(i) In terms of saving rate s and depreciation rate 0,
\J, “derive expressions for capital per worker, ?utput
\ﬂf per worker and consumption per worker in the

A

', My steady state. -
)”(in) Suppose & = 0.08, and s = 0.32, what is the steady
 state capital per worker, output.per worker and
j?i’ — consumption per worker?

@ IART e Y=K“L"“Erliﬁqiﬁmq'{ﬁﬁrﬂ
»“ i T @R B a=1/3 ¥
(i) T T8 TEET FeT IAH & e} Ufdwa (constant
returns to scale) Wi Tl 87 _
() Iddd W sd ‘i{rﬁﬂ% B9 <X (depreciation rate:)ﬁa‘?
i § ufy afte oo, ufy afve Sae 9 dfa
gfer SUHT % ferEen O ' 8 A
i)
(i) AT AT 8 = 0.08 T&AT s = 0.32 aF i =f®
golt, ufd ot SEe g gia Aie SuH &
ReRreeT 9 | ORI 87 1¥5+3+3

>
[

(a) (i) What are the assumptions Friedman makes in his
permanent income hypothesis? |
foreeT ThSAT T ST IRETIT A aRT-arT A=
A 7

(i) Explain with the help of these assumptions, that for
an above average income group, the consumption
income point lies below the: permanent

consumption line and the opposite is true for a lower

than average income group. Can this analysis be
v |-
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used to describe short run cyclical fluctuations in
income? Explain with the help of a diagram.
S WAl @ qeEdT @ guensy f ofwd @
3feres Mg At SME-f B SUHNT-ANY faeg T
STHIT Y@ @ A9 Raa dar & Jar oftwd 9 B
ST AT SE-f ¥ 39T fadia T 8iar & | T
39 faeduor @1 UG o agelald 9shid
SAR-TTEl T IO e g fBaT ST Fehall &7 Teh
@ & TEEar & gHET| 3+3+1%4
(b) (i) Suppose an individual has a utility function of the
following form: U(c') = {n c for every time period
t. If he discounts future utilities at a constant discount
rate o, show that his intertemporal optimizing
behaviour, using an intertemporal budget constraint,
leads to the result that the ratio of marginal utilities
2 of consumption in each two adjacent periods over
time is equal to the ratio of one plus the market
interest rate to one plus the consumer discount
rate.

(ii) Using the above result show and also explain under
what conditions consumption will rise and fall over

time.

() "9 Wi & Gl =i =1 v 9d% &
afer &g Uc) =¢nc &1 AR 98 wiosr 3t Swdifirar
W R W 8§ |/ 9 (discount) HieaT B, dF qifzw
for SI=AeT@l®T (intertemporal) S9i€ Ufqe=r &
STEfT ST SATAART FRAHEI (optimization)
FEER & URCTHE®Y & 3 (adjacent) SR
F SuHmT @ QM STAIRETS H S (1+
FOR &= W) T (143U &t 32_\% (discount)
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l Hall reformulated the

' t

) Explain how Rober . . e

@0 coEsumption theory bY 1n.corporat1ng
assumption of rational expectations.

| (i) What are the shortcomings of H
expectation approach?

(i) wmﬁsﬁaéﬁa%ﬁﬁamaﬁﬂﬁ (rational)
mﬂaﬁaﬁwﬁmmaﬂﬂﬁf?@ﬁﬂ
AT fohar |

(ii)sﬁ'ﬁ?}?a%#rﬁmngf&aﬁuraﬁwwa;ﬁﬁ
&7 4243

all’s rational

. (a) (i) ‘A booming stock market is good for investment.’

Discuss. {Ai/ ﬁ ({3{(1.'\“---'\1

(i) Explain why lenders may ration the quantity of
credit rather than merely charge higher interest rates
to more risky borrowers.

(iii)What is investment tax credit? Why does ‘a
temporary investment tax credit have a larger effect
on investment than a permanent one?

@) ‘9 SR # a9 FEw @ g ot et B
fordem R |
(i) THENET fF FORMET ARE ST 9 FOTEHI
& A I AN & GYA B o K0T Bl
qET & A= (ration) T FW R
(i) P H FHST (investment tax credit) T &2
It FAY &R GES @ g 3 ot fay @
o & AT W yE it & d ¥
x/\ - 2+342Y2
f}(}-b) i) Explain the process of determination of equilibrium
in the housing market in the short run.

! . Turn over
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(ii) What are the factors that determine the position ¢
the demand curve of housing in the short run? _
(iii) When will the long run equilibrium of the housing

industry be reached in a non-growing economy?

(i) m@awﬁmmﬁm%ﬁﬂhuf
& gishar & WEST | c
Gi) ST g T A Raf B g T B
B ¥ e FraifRa @ 87

(i) T N areferaean, Rrad gy 78 & W &, A
AT ST § Qe rgEaen 9 AT
'Eﬁ-jﬁ? 3+3+l]/2

(c) (i) Explain how the aggregate demand for money
function with regressive expectations can be
obtained from individual demand curves with the
help of a diagram.

(i1) What are the two shortcomings of this analysis?

(i) T9ART f&b YiamHT (regressive) JATSSN & 9

TET HT Q9T W Go Al q9T Gesl o U6

" @tas &t weraar 4 69 R urw fRar S
TeHam o |

(i) 39 fagawer &t & st e €2 5Y542

4. (a) (1) ‘Inflation targeting eliminates deviations of output
from its natural level.” Discuss. What are the
shortcomings of this argument?

(ii) The monetary base to GDP is 3% and nominal

money growth is 5% per year. Calculate the revenue
earned by the Central Bank.

(i) ‘THIY TEHT (inflation targeting), IUTT & 3
i 'R W e & w w3y 30 =

mwﬁﬁwaﬁﬁqu'mﬁﬁmmmﬁﬁ
g7 - ¢

9]91 6
. Turn over
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(i) For-aiee (debt financed)
TR o 'R SR e T 3q AT DBl

gdiErer SR z !
(ii)wamﬁ%mﬁﬁfﬁ%ama&qﬁgﬂ
W%ﬁw—GDPWWWWW

BT &, auesg | . 2Va+5

(c) The Real Business Cycle model’s explanation of
business cycles depends crucially on the slope of the
labour supply curve. Discuss. To what extent can this

model realistically explain persistent recessions?
R T B S AR W Hisd ga @ TR
TS WeAY ®Y & HH-3MYRI &6 D o W
Hl &1 39 FIT & a9 Hfg) I8 bGEd )
(persistent) Al & e 9T 9% Jmeld: STl 6
FHAT &7 Vs

5. (a) (i) Explain the three factors that commonly create a
financial crisis in advanced countries.

(i) Why does debt deflation make financial crisis
worse?

(i) S o el B GHERY S e Srefeassi
¥ g fOwiia @@l (financial crises) T 5=
W gl
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(ii) FOT-STEhIT (debt-deﬂatiun)ﬁfc?ﬂﬁ HhHe & gl

i & o 82 4v2+3

(b) (i) What do you understand by golden rule steady
state? Derive the condition for golden rule steady
state. ' -

(ii) An economy is at a steady state with less capl

than the golden rule steady state. Show tl:lﬂ transition
paths of output, consumption and investment
towards the golden rule steady state.

(i) @Rt fE (golden rule) Raxraear § 9 HT
wﬁ%?aﬁﬁﬁmﬁam%gmé (condition)
I HT | | | |

(ii) U oreferaer U a Reraen § ¥ frad @im
o Rovaen & &7 0 ¥ SEE, ST T
Py & @ty frar Rexrawr @ iR wHFo-ael

(transition paths) # SHIE | 443%
(c) (i) Explain Friedman’s and Phelps’s versions of the
fooling model.

T@ T & (fooling) WIEW & WIsHT T horwad
@ Ry 10 o=l S e |

(ii) Discuss how long term labor contracts can act as a
source of a business cycle. o

QR 49 AT fFE THR AR =% B |
& T €, e A 4543

[\,
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Instructions for Candidates

. Write vour Roll No. ¢n the top immediately on receipt of this question paper.

[

Attempt any two parts from cach question,

4
+

Each part carries 7.5 marks.
4. Answers may be written either in English or in Hindi: but the same medium should

be used throuchout the paper.

@ & v fJEsr

i A @i -4 en HAA B IR EC M0 MM T T T LHEE

v UREE WR ¢ jEal 9 Wi g g9 aifaw

i

Rt

TR UW & 7.5 W

4, TA 9F- 44 9 gm0 i a B fEd o v W Gfae, Afae /6w 9l nem v

1'.‘.1.

¥ T QfET |

. {a) Derive the Golden Rule level of capital in the basic Solow mode! using
diagram and equations. Explain the transition paths of output. consumption
and investment per worker when saving rate Is increased to aclieve the

Golden Rule level.

(b) Prove that in the Romer madel. the long run growth e ¢of the ¢cconomy is
determined by the parameters ol the production tunciion for ideas and the

rate of growth of researchers w hich 1s u!tmluh.k} aiven by the population

srowth rate. M E\Q fj\ﬂ‘r_’.ﬁ’

(c) (i) Show that as long as s4>8 in the AK Model the economy’s income

UrOwWs lun:vu How is capital delined in this model 7

X mdindien o\
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cessary one .

Q tﬁ\ﬂup 1 (i) How does software product pricing rellect e THREEERS 200

l'}l

(37) s i s § @ @i s e @ fag S e

(=)

(%)

(a1)

(b)

(<)

and why the inefficiency is in many ways a e
o afz

?ﬂ?ﬁ??ﬁlmarﬁiﬁﬁmaﬂﬂaﬁﬁﬂgﬁaﬁﬁ%ﬁr‘lﬁmﬁﬁaf A

I 7 fEs = e el S ARy |

fre &ifse e o wa are‘ﬁ::wnaﬁﬂvﬁmﬁ#gﬁ:ﬂmﬁwﬁaﬁ @
Nz wA @ gren 7 a9 afe woam # & Al wenfadt &l afa @

o

¥ wEaen @ Ay = AT BEL B

(i) firzr dfe fe AK wifest A 56 7T sA 6. SFTaaes F1 3 A g |
£1 79 Wza § TR W fR wew aeafiE e w

(i) TitFeaa? 3ol & @ b o aem Wﬁwmﬂﬁﬁ%ﬁ

-
-

E’ Fa h_,'-]EI‘;H[ﬂE[! iaa“ WY ?‘T HTTH= % ?
Discuss the behavior of income. consumplion. savings and wealth over
the Tite evele of a consumer according to the Life Cyele Hypotheses of

consumption. Explain how the marginal propensitics to consume out of income

and weailh vary with working fite and lite expectancy,

What is borrowing constraint ? Distinguish between binding and non-bindiny
borrowing constraints. Are there two consumpticn functions il binding and

non-binding borrowing constrainis exist ?

Using the Cobb-Douglas production function in the Flexible Accelerator
Model and given the following data :

Output (Y) = $5 trillion. rental cost (rc) = 0.12, the share of capital in

output (y) = 0.3
(i) Calculate the desired capital stock K*. Ol

(i) Now supposc that Y is expected to rise to 56 trillion. What is the
x : : Y L

corresponding desired capital stock ? o s

(iii) Suppose the capital stock was at its desired level before the change
in income was expected. Suppose further that the rate of adjustment

of actual capital stock to desired level (2.) = 0.4 in the flexible

accelerator model of investment. What will the rate of investment be

in the first vear after expected income changes ?
(iv) Does vour answer in (iii) refer to gross or net investment ?

- L
e L — %5 ¥ - r-}- }
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I} AT TE s -pms i
(1) TE U | 30l 4 e 3, g
i,

A A i
S SR oy fra ygp fnm g =

.~ ALY ) waERY fa W A A AT WY

Atarry u_; L R oo W 7

q) W BBt T T o)
(7) = afeea am & 7 g WA S e afaay i HEd
o b h -.l‘l'?

Z FAT | gh
TFEE o 3 ; Ca
SR w0 W il B A W A Jnim r e B

¥
(+) FF-IT"FFITTFHRTHE?I:IH IR T A e e
HAEE g F 3w r:d';nq

I (Y) - S5 fefamm (s000 ), fEm anm (o) 0.0
ITNT H DM @ ;W (y) - 03

’I Cafepetiey AT

(i) 9571 = =ifos = K+ 99 o Fifaw 1

(ii) 2 == Ffarg B smmr @ g7aw $ 6 fofommr 21 3 =1 vy 7 4 2o
AE i w5 wifag s gy # 7

(iii) =7 =tfsry fir semmes & wefor =0 & afe v O 91w ow @f
TR W W DT DA S amRfeEn v W afod s A s s 2
T (7 - 0.4 70 (FEm @ s i W) wRnfeg am ¥ whedn 9 9w
a1 = fgs ¥ we am A v

(iv) M (d) & st v et Faldor &) asfan & o Geam el v

J. 0 (a) “The slow adjustment of consumplion 1 a given change in disposable income
will mean that income itself adjusts slowly to any given shift in autonomous
spending that is notat first recognized as permanent™. Discuss the above
statement in the 15-LM framework.

(b)  What are the reasons for holding inventories 7 Distinguish between anticipated
and unanticipated inventory investment. What is the behavior of inventory

investment in the business cvele ?

(c) Discuss Baumol’s analysis of the transactions demand for money.

=

(3) “wdrsa sma # fa faw ge wfads o afvmraes Ioam & Oe w6 &1 ae
g fa 3ma = e e S0 i g, aft s wm W i b sfade f
T For ot A el T R R WA W T 1S-LM 2 % fres i
(a) i (inventories) @ & @ @ # 7 anifed @ sAfem =iw fam 3 e

3 T L I o - A e A ) e 2 e 24V ) il o | A
1o
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;-T Li'E [ " i W a
() w1 A fafoprr wn @) e 7 P o Fasdao 31 frvas Aafan |

-

L1
What is infation 1 S i ;
hat is inflation trgetimg 27 How the target inflation rate can be achieved by
central banks using Tay lor rude ?

b Iscuss the prokle g y ,
(0)  Ihsc uss the |‘||:n|‘r||_ s caused h-,l asyvmmetric information. ]:-\-lﬂ:“" how the
1 . W % L . = el . . B "
banks overcome these problems 7 How does covernment regulation promote

transparency in this context ?

(€) “According to New Kevnesians small nominal rigidities have large
macrocconoiic eflfects™, Discuss the above statement.

(31) #¥ifa seawa e @ 7 @l A g e A Faam o I A v A w
T A WEW WA RUT 9 Al

(A) s@AfmE 3 & wrw B ) e g fERee b sy T oAw B
TR TH WU W AT T F3A fed § WA g e fEm A el

(@) “=m == it @ s S miEE weash @ 73 Faie - srdme iR

2

BT

F;

F 17 ow ot = Bwy b

Al

(2% Discuss the ﬁ'_'Hﬂwing issues in fiscal policy
(1Y Ricardian Equivalence

(i1) The dangers of very high Debt-GDP ratio

(1) Explain the dvnamics of financial erisis.

(¢) Discuss the Real Business Cycle model. Does the global economic crisis of

2007-09 support this model ?

(3r) T <ifa @ Frafafem f @ e il
(i) ffiaT geom
(tl)mﬁm—mﬁﬁmfaﬂmﬁ@:ﬁ
(z) fa<hg qwe & 7l EN TWEE |
(w) arfars @R = Aea o fFae i | 2007 - 09 o dfFaw iEE WEc
=g wied T AT T E 7
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